Dividing Surds (2)
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Dividing Surds (2)
1. State whether each is true or false.

a) V14 +V7 =42
0) 1414 = 742 = 27
c)10V5 +2V5=5
d)2vV5 <V5=5

e) 10V14 + 57 =242

Write the correct answer for any false

statements.

2

2.

a)

C)S=

e) S =

Simplify

46
22

8/6
23
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2J3 V2
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Dividing Surds (2)

12412

3. Simplify A

4. Find the missing numbers.

5. Find the missing length.

20vV8 cm? 10v2 cm

cm

6. Find the missing height.

-| o

3/6cm
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Answers
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Dividing Surds (2)

1. State whether each is true or false.

a) V14+V7=+2 T
0) 1414 +7N2 =27 T
c)10V5+2V5=5T
d)2V5+/5=5 F
e) 1OV14+5V7 =242 T

Write the correct answer for any false

statements.

2. Simplify
46

a) 55 =2V3
8/6

)2J— 42
16V6

e) —= e +V2=8

o) 5=

d) 5=

8/6
2V2

16V6 _
2V3

= 43

=82
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Dividing Surds (2)

< 12V12 2 /E or VEZ 5. Find the missing length.
42
2
4. Find the missing numbers: 202 & 10v2 cm
i 4 cm
10
a) gy 23 =VI2 6. Find the missing height.
12\/— 9\/6 cm? icm
b) =V32 = 42
35 i :
3J/6 cm
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